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Bauwerk  01

Überführung Schorner Str.

Bau-km  2+373

LW = 9.00 m LH ≥ 4.80 m

KH = 0.80 m

Bauwerk  02

Wirtschaftsweg

Bau-km  4+638

LW = 4.50 m LH ≥ 4.50 m

Bauwerk  03

Eisenbahnüberführung

Bau-km  4+947

LW = 10.00 m LH ≥ 5.40 m

KH = 0.80 m

P
:
\
2
0
1
5
\
1
5
-
0
0
2
\
0
3
_
p
l
a
n
u
n
g
\
0
5
_
C

A
D

\
L
a
g
e
\
1
6
0
9
2
0
_
S

T
.
d
w

g

Straßenbauverwaltung

Straße / Abschn.-Nr. / Station:

PROJIS-Nr.:

aufgestellt:

_ _ _ _ _ _ _ _ _ _ _ _ _ _ , den _ _ _ _ _ _ _ _ _

Unterlage / Blatt-Nr.:  5 / 3

Lageplan

Maßstab: 1 : 5 000

Datum ZeichenArt der ÄnderungNr.

15-002

20.09.2016 Reichthalh.

20.09.2016

20.09.2016

Reichthalh.

Reichthalh.geprüft:

gezeichnet:

bearbeitet:

Projekt:

P:\2015\15-002\03_planung\05_CAD\Lage\160920_ST.dwg

Planverfasser:

VORUNTERSUCHUNG

INGENIEURBÜRO SCHÖNENBERG + PARTNER

BERATENDE INGENIEURE BYIK-BAU/BDB/VSVI

RÜDESHEIMER STRASSE 15, 80686 MÜNCHEN

TEL.089 /54 70 70 -0   FAX 089 /54 70 70 -20

info@ib-schoenenberg.de www.ib-schoenenberg.de
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Schäftlarn

Variante BI
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